CENTREFOREX SIGNAL PERFORMANCE 01 - February - 2017 To 28 - February - 2017

EUR/USD: 90 USD/CHF: 120 GBP/USD: 40 EUR/JPY: 70

XAU/USD: 2100

Total Pips: 2420



Date	Symbol	Direction	Entry Price	Stop Loss	Туре	Target	Close Price	Profit/Loss
2017-02-28	EUR / USD	SELL	1.0590	1.0640	CLOSED	1.0590	1.0590	0
2017-02-28	USD / CHF	BUY	1.0075	1.0035	CLOSED	1.0075	1.0075	0
2017-02-28	GBP / USD	SELL	1.2435	1.2485	CLOSED	1.2435	1.2435	0
2017-02-28	XAU / USD	SELL	1256	1265	CLOSED	1248	1256	0
2017-02-28	GBP / USD	SELL	1.2435	1.2485	CLOSED	1.2385	1.2415	20
2017-02-27	EUR / USD	SELL	1.0575	1.0625	CLOSED	1.0535	1.0625	-50
2017-02-27	GBP / USD	SELL	1.2415	1.2435	CLOSED	1.2375	1.2435	-20
2017-02-27	USD / CHF	BUY	1.0060	1.0020	CLOSED	1.0090	1.0070	10
2017-02-27	XAU / USD	BUY	1255	1247	CLOSED	1262	1262	700
2017-02-27	XAU / USD	BUY	1262	1259	CLOSED	1267	1259	-300
2017-02-24	GBP / USD	BUY	1.2515	1.2415	CLOSED	1.2605	1.2415	-100
2017-02-23	GBP / USD	BUY	1.2460	1.2410	CLOSED	1.2500	1.2500	40
2017-02-23	EUR / USD	SELL	1.0540	1.0480	CLOSED	1.0590	1.0580	40
2017-02-23	GBP / USD	SELL	1.2455	1.2515	CLOSED	1.2375	1.2465	-10
2017-02-23	USD / CHF	SELL	1.0110	1.0150	CLOSED	1.0070	1.0070	40
2017-02-23	EUR / JPY	BUY	119.35	118.55	CLOSED	120.05	119.35	0
2017-02-22	EUR / USD	SELL	1.0560	1.0620	CLOSED	1.0500	1.0560	0
2017-02-22	GBP / USD	BUY	1.2455	1.2395	CLOSED	1.2525	1.2455	0
2017-02-22	EUR / JPY	SELL	119.85	120.35	CLOSED	119.45	119.45	40
2017-02-21	XAU / USD	SELL	1230	1233	CLOSED	1221	1231	-100
2017-02-21	GBP / USD	SELL	1.2445	1.2445	CLOSED	1.2425	1.2425	20
2017-02-21	GBP / USD	SELL	1.2450	1.2490	CLOSED	1.2420	1.2420	30
2017-02-20	XAU / USD	SELL	1237	1245	CLOSED	1231	1233	400

2017-02-20	GBP / USD	SELL	1.2435	1.2515	CLOSED	1.2435	1.2435	0
2017-02-20	EUR / JPY	SELL	120.15	121.15	CLOSED	119.15	120.15	0
2017-02-17	EUR / USD	BUY	1.0650	1.0630	CLOSED	1.0705	1.0650	0
2017-02-17	USD / CHF	SELL	0.9995	1.0005	CLOSED	0.9985	0.9995	0
2017-02-17	XAU / USD	SELL	1237.40	1244.40	CLOSED	1237.40	1237.40	0
2017-02-17	GBP / USD	SELL	1.2417	1.2440	CLOSED	1.2427	1.2427	-10
2017-02-17	GBP / USD	SELL	1.2500	1.2530	CLOSED	1.2450	1.2450	50
2017-02-16	EUR / JPY	SELL	121.00	121.30	CLOSED	120.70	120.70	30
2017-02-15	XAU / USD	SELL	1225	1236	CLOSED	1221	1221	400
2017-02-15	XAU / USD	SELL	1225	1230	CLOSED	1221	1221	400
2017-02-15	EUR / USD	SELL	1.0546	1.0566	CLOSED	1.0516	1.0566	-20
2017-02-15	GBP / USD	SELL	1.2420	1.2440	CLOSED	1.2390	1.2440	-20
2017-02-15	XAU / USD	BUY	1226	1225	CLOSED	1227	1227	100
2017-02-15	XAU / USD	SELL	1228	1236	CLOSED	1221	1236	-800
2017-02-15	EUR / USD	SELL	1.0590	1.0640	CLOSED	1.0590	1.0640	-50
2017-02-15	USD / CHF	BUY	1.0055	1.0025	CLOSED	1.0055	1.0025	-30
2017-02-14	EUR / USD	SELL	1.0618	1.0670	CLOSED	1.0550	1.0618	0
2017-02-14	USD / CHF	BUY	1.0040	1.0010	CLOSED	1.0050	1.0040	0
2017-02-14	GBP / USD	BUY	1.2510	1.2470	CLOSED	1.2560	1.2470	-40
2017-02-14	XAU / USD	BUY	1232	1230	CLOSED	1239	1230	-200
2017-02-14	GBP / USD	SELL	1.2475	1.2495	CLOSED	1.2425	1.2465	10
2017-02-14	XAU / USD	SELL	1226		CLOSED	1224	1225	100
2017-02-14	XAU / USD	BUY	1226	1219	CLOSED		1226	0
2017-02-14	EUR / JPY	SELL	120.65	121.25	CLOSED	120.15	121.25	-60
2017-02-13	EUR / USD	SELL	1.0635	1.0675	CLOSED	1.0605	1.0605	30
2017-02-13	GBP / USD	SELL	1.2525	1.2585	CLOSED	1.2485	1.2485	40
2017-02-13	USD / CHF	BUY	1.0030	0.9990	CLOSED	1.0060	1.0060	30
2017-02-13	EUR / JPY	SELL	121.05	121.85	CLOSED	121.65	120.85	20
2017-02-13	XAU / USD	SELL	1231	1238	CLOSED	1224	1224	700
2017-02-13	XAU / USD	SELL	1224	1226	CLOSED	1215	1226	-200

2017-02-10 XAU / USD BUY 1228.40 1224 CLOSED 1234 1229.40 190	2017-02-10	GBP / USD	SELL	1.2470	1.2485	CLOSED	1.2420	1.2450	20
2017-02-10 XAU / USD SELL 1232 1245 CLOSED 1185 1231 100									
2017-02-10 EUR / USD SELL 1.0660 1.0720 CLOSED 1.0620 1.062	2017-02-10	XAU / USD	BUY	1228.40	1224	CLOSED	1234	1229.40	100
2017-02-10 EUR / JPY BUY 121.10 120.90 CLOSED 120.30 121.00 -10	2017-02-10	XAU / USD	SELL	1232	1245	CLOSED	1185	1231	100
2017-02-09 GBP / USD SELL 1.2510 1.2590 CLOSED 1.2460 1.2460 50 2017-02-09 GBP / USD SELL 1.2520 1.2560 CLOSED 1.2490 1.2560 40 2017-02-09 USD / CHF BUY 0.9960 0.9930 CLOSED 0.9990 0.9990 30 2017-02-09 EUR / USD SELL 1.0680 1.0730 CLOSED 1.0650 1.0650 30 2017-02-09 EUR / USD SELL 120.10 120.30 CLOSED 119.70 120.30 20 2017-02-08 EUR / USD SELL 1.0695 1.0755 CLOSED 1.0675 1.0675 20 2017-02-08 USD / CHF BUY 0.9960 0.9900 CLOSED 0.9960 0.9960 0 2017-02-08 EUR / USD BUY 1232 1227 CLOSED 119.25 119.85 20 2017-02-08 XAU / USD BUY 1231 1227 CLOSED 1232 1232 0 2017-02-08 XAU / USD BUY 1231 1227 CLOSED 1232 1232 0 2017-02-08 XAU / USD BUY 1236 1237 CLOSED 1240 1240 400 2017-02-08 XAU / USD BUY 1231 1232 CLOSED 1240 1240 400 2017-02-08 XAU / USD BUY 1231-40 1232.40 CLOSED 1232-40 1232-40 100 2017-02-07 XAU / USD BUY 1230 1218 CLOSED 1232-40 1232-40 100 2017-02-07 XAU / USD BUY 1230 1218 CLOSED 10.065 1.0685 20 2017-02-07 USD / CHF BUY 0.9960 0.9930 CLOSED 1.0665 1.0685 20 2017-02-06 EUR / USD SELL 1.0705 1.0725 CLOSED 1.2040 1.2440 50 2017-02-06 EUR / USD SELL 1.2490 1.2550 CLOSED 1.2040 1.2440 50 2017-02-06 EUR / USD SELL 1.2490 1.2550 CLOSED 1.0605 1.0935 0.9935 0 2017-02-06 EUR / USD SELL 1.2490 1.2550 CLOSED 1.0640 1.0760 10 2017-02-06 EUR / USD SELL 1.0770 1.0840 CLOSED 0.9985 0.9933 20 2017-02-03 XAU / USD SELL 1.0770 1.0840 CLOSED 0.9985 0.9933 20 2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9985 0.9933 20 2017-02-03 XAU / USD SELL 1.0770 1.0840 CLOSED 0.9985 0.9933 20	2017-02-10	EUR / USD	SELL	1.0660	1.0720	CLOSED	1.0620	1.0620	40
2017-02-09 GBP / USD SELL 1.2520 1.2560 CLOSED 1.2490 1.2560 40 2017-02-09 USD / CHF BUY 0.9960 0.9930 CLOSED 0.9990 0.9990 30 2017-02-09 EUR / USD SELL 1.0680 1.0730 CLOSED 1.0650 1.0650 30 2017-02-09 EUR / USD SELL 120.10 120.30 CLOSED 119.70 120.30 20 2017-02-08 EUR / USD SELL 1.0695 1.0755 CLOSED 1.0675 1.0675 20 2017-02-08 USD / CHF BUY 0.9960 0.9900 CLOSED 0.9960 0.9960 0 2017-02-08 EUR / JPY SELL 119.65 119.85 CLOSED 119.25 119.85 20 2017-02-08 XAU / USD BUY 1231 1227 CLOSED 1232 1232 0 2017-02-08 XAU / USD BUY 1231 1227 CLOSED 1232 1232 0 2017-02-08 XAU / USD BUY 1236 1236 CLOSED 1227 1237 -500 2017-02-08 XAU / USD BUY 1231-0 1232-0 CLOSED 1227 1237 0 2017-02-08 XAU / USD BUY 1231-0 1232-0 CLOSED 12240 1240 400 2017-02-07 XAU / USD BUY 1231-0 1232-0 CLOSED 1232-40 1232-40 100 2017-02-07 XAU / USD BUY 1231-0 1232-0 CLOSED 1241 1230 0 2017-02-07 USD / CHF BUY 0.9960 0.9930 CLOSED 1.0665 1.0685 20 2017-02-07 USD / CHF BUY 0.9960 0.9930 CLOSED 1.0665 1.0685 20 2017-02-06 EUR / JPY SELL 121.35 121.85 CLOSED 1.0665 1.0685 20 2017-02-06 GBP / USD SELL 1.2490 1.2550 CLOSED 0.9990 0.9970 10 2017-02-06 GBP / USD SELL 1.2490 1.2550 CLOSED 1.0640 1.2440 50 2017-02-06 EUR / JPY SELL 120.70 120.90 CLOSED 1.0640 1.0760 10 2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9985 0.9933 20 2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9985 0.9933 20 2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9880 0.9910 10	2017-02-10	EUR / JPY	BUY	121.10	120.90	CLOSED	120.30	121.00	-10
2017-02-09	2017-02-10	GBP / USD	SELL	1.2510	1.2590	CLOSED	1.2460	1.2460	50
2017-02-09 EUR / USD SELL 1.0680 1.0730 CLOSED 1.0650 1.0650 30 2017-02-09 EUR / JPY SELL 120.10 120.30 CLOSED 119.70 120.30 -20 2017-02-08 EUR / USD SELL 1.0695 1.0755 CLOSED 1.0675 1.0675 20 2017-02-08 USD / CHF BUY 0.9960 0.9900 CLOSED 0.9960 0.9960 0 0 2017-02-08 EUR / JPY SELL 119.65 119.85 CLOSED 119.25 119.85 -20 2017-02-08 XAU / USD BUY 1232 1227 CLOSED 1232 1232 0 2017-02-08 XAU / USD BUY 1231 1227 CLOSED 1232 1232 0 2017-02-08 XAU / USD BUY 1231 1227 CLOSED 1227 1237 -500 2017-02-08 XAU / USD BUY 1236 1236 CLOSED 1240 1240 400 400 2017-02-07 XAU / USD BUY 1230 1218 CLOSED 1232.40 1232.40 100 2017-02-07 EUR / USD BUY 1230 1218 CLOSED 1.0665 1.0685 20 2017-02-07 USD / CHF BUY 0.9960 0.9930 CLOSED 12.095 120.95 40 2017-02-06 EUR / JPY SELL 1.2490 1.2550 CLOSED 1.2440 1.2440 50 2017-02-06 EUR / JPY SELL 1.2490 1.2550 CLOSED 1.0640 1.0760 10 2017-02-03 EUR / USD SELL 1.0770 1.0840 CLOSED 1.0640 1.0760 10 2017-02-03 EUR / USD SELL 1.0770 1.0840 CLOSED 1.0640 1.0760 10 2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9985 0.9933 20 2017-02-03 XAU / USD SELL 1.216 1.226 CLOSED 1.0680 0.9910 10 2017-02-03 XAU / USD SELL 1.216 1.226 CLOSED 1.208 0.9933 20 2017-02-03 XAU / USD SELL 1.216 1.226 CLOSED 1.208 0.9930 0.9910 10 2017-02-03 XAU / USD SELL 1.216 1.226 CLOSED 1.208 0.9931 10 2017-02-03 XAU / USD SELL 1.216 1.226 CLOSED 1.208 0.9910 0.9910 10 2017-02-03 XAU / USD SELL 1.216 1.226 CLOSED 1.208 0.9910 0.9910 10 2017-02-03 XAU / USD SELL 1.216 1.226 CLOSED 1.208 0.9910 0.9910 10 2017-02-03 USD / CHF SELL 0.9920 0.9950 CLOSED 0.9980 0.9910 10 2017-02-03	2017-02-09	GBP / USD	SELL	1.2520	1.2560	CLOSED	1.2490	1.2560	-40
2017-02-09 EUR / JPY SELL 120.10 120.30 CLOSED 119.70 120.30 -20 2017-02-08 EUR / USD SELL 1.0695 1.0755 CLOSED 1.0675 1.0675 20 2017-02-08 USD / CHF BUY 0.9960 0.9900 CLOSED 0.9960 0.9960 0 2017-02-08 EUR / JPY SELL 119.65 119.85 CLOSED 119.25 119.85 -20 2017-02-08 XAU / USD BUY 1232 1227 CLOSED 1232 1232 0 2017-02-08 XAU / USD BUY 1231 1227 CLOSED 1232 1232 0 2017-02-08 XAU / USD SELL 1232 1237 CLOSED 1227 1237 -500 2017-02-08 XAU / USD BUY 1236 1236 CLOSED 1227 1237 -500 2017-02-07 XAU / USD BUY 1231.40 1232.40 CLOSED 1240 1240 400 2017-02-07 XAU / USD BUY 1230 1218 CLOSED 1232.40 1232.40 100 2017-02-07 EUR / USD SELL 1.0705 1.0725 CLOSED 1.0665 1.0685 20 2017-02-06 EUR / JPY SELL 121.35 121.85 CLOSED 120.95 120.95 40 2017-02-06 EUR / JPY SELL 1.2490 1.2550 CLOSED 1.2440 1.2440 50 2017-02-06 EUR / JPY SELL 1.0700 1.0500 CLOSED 1.0640 1.0760 10 2017-02-06 EUR / JPY SELL 1.0700 1.0500 CLOSED 1.0640 1.0760 10 2017-02-06 EUR / JPY SELL 1.0700 1.0840 CLOSED 1.0640 1.0760 10 2017-02-06 EUR / JPY SELL 1.0700 1.0840 CLOSED 1.0640 1.0760 10 2017-02-03 EUR / USD SELL 1.0770 1.0840 CLOSED 1.0640 1.0760 10 2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9985 0.9933 20 2017-02-03 USD / CHF SELL 0.9920 0.9950 CLOSED 0.9880 0.9910 10	2017-02-09	USD / CHF	BUY	0.9960	0.9930	CLOSED	0.9990	0.9990	30
2017-02-08 EUR / USD SELL 1.0695 1.0755 CLOSED 1.0675 1.0675 20 2017-02-08 USD / CHF BUY 0.9960 0.9900 CLOSED 0.9960 0.9960 0 2017-02-08 EUR / JPY SELL 119.65 119.85 CLOSED 119.25 119.85 -20 2017-02-08 XAU / USD BUY 1232 1227 CLOSED 1232 1232 0 2017-02-08 XAU / USD BUY 1231 1227 CLOSED 1232 1232 0 2017-02-08 XAU / USD SELL 1232 1237 CLOSED 1227 1237 -500 2017-02-08 XAU / USD BUY 1236 1236 CLOSED 1240 1240 400 2017-02-07 XAU / USD BUY 1231.40 1232.40 CLOSED 1232.40 1232.40 100 2017-02-07 XAU / USD BUY 1230 1218 CLOSED 1241 1230 0 2017-02-07 XAU / USD SELL 1.0705 1.0725 CLOSED 1.0665 1.0685 20 2017-02-07 USD / CHF BUY 0.9960 0.9930 CLOSED 1.0665 1.0685 20 2017-02-06 EUR / JPY SELL 12.1.35 121.85 CLOSED 1.2440 1.2440 50 2017-02-06 EUR / JPY SELL 1.0700 1.2550 CLOSED 1.2440 1.2440 50 2017-02-06 EUR / JPY SELL 1.0700 1.0550 CLOSED 1.0640 1.0760 10 2017-02-03 EUR / USD SELL 1.0770 1.0840 CLOSED 1.0640 1.0760 10 2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9995 0.9933 20 2017-02-03 XAU / USD SELL 1.216 1226 CLOSED 1.208 1.215 100 2017-02-03 XAU / USD SELL 1.216 1226 CLOSED 0.9985 0.9933 20 2017-02-03 XAU / USD SELL 1.216 1226 CLOSED 0.9985 0.9910 10	2017-02-09	EUR / USD	SELL	1.0680	1.0730	CLOSED	1.0650	1.0650	30
2017-02-08	2017-02-09	EUR / JPY	SELL	120.10	120.30	CLOSED	119.70	120.30	-20
2017-02-08 EUR / JPY SELL 119.65 119.85 CLOSED 119.25 119.85 -20 2017-02-08 XAU / USD BUY 1232 1227 CLOSED 1232 1232 0 2017-02-08 XAU / USD BUY 1231 1227 CLOSED 1232 1232 0 2017-02-08 XAU / USD SELL 1232 1237 CLOSED 1227 1237 -500 2017-02-08 XAU / USD BUY 1236 1236 CLOSED 1227 1237 -500 2017-02-07 XAU / USD BUY 1231.40 1232.40 CLOSED 1240 1240 400 2017-02-07 XAU / USD BUY 1231.40 1232.40 CLOSED 1232.40 1232.40 100 2017-02-07 XAU / USD BUY 1230 1218 CLOSED 1241 1230 0 2017-02-07 EUR / USD SELL 1.0705 1.0725 CLOSED 1.0665 1.0685 20 2017-02-07 USD / CHF BUY 0.9960 0.9930 CLOSED 0.9990 0.9970 10 2017-02-06 EUR / JPY SELL 121.35 121.85 CLOSED 1.20.95 120.95 40 2017-02-06 GBP / USD SELL 1.2490 1.2550 CLOSED 1.2440 1.2440 50 2017-02-06 EUR / JPY SELL 120.70 120.90 CLOSED 1.9965 0.9935 0 2017-02-06 EUR / JPY SELL 120.70 120.90 CLOSED 1.0640 1.0760 10 2017-02-03 EUR / USD SELL 1.0770 1.0840 CLOSED 1.0640 1.0760 10 2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9985 0.9933 20 2017-02-03 XAU / USD SELL 1216 1226 CLOSED 1208 1215 100 2017-02-02 USD / CHF SELL 0.9920 0.9950 CLOSED 0.9880 0.9910 10	2017-02-08	EUR / USD	SELL	1.0695	1.0755	CLOSED	1.0675	1.0675	20
2017-02-08 XAU / USD BUY 1232 1227 CLOSED 1232 1232 0 2017-02-08 XAU / USD BUY 1231 1227 CLOSED 1232 1232 0 2017-02-08 XAU / USD SELL 1232 1237 CLOSED 1227 1237 -500 2017-02-08 XAU / USD BUY 1236 1236 CLOSED 1240 1240 400 2017-02-07 XAU / USD BUY 1231.40 1232.40 CLOSED 1240 1240 100 2017-02-07 XAU / USD BUY 1230 1218 CLOSED 1241 1230 0 2017-02-07 XAU / USD SELL 1.0705 1.0725 CLOSED 1.0665 1.0685 20 2017-02-07 USD / CHF BUY 0.9960 0.9930 CLOSED 0.9990 0.9970 10 2017-02-06 EUR / JPY SELL 121.35 121.85 CLOSED 120.95 120.95 40 2017-02-06 GBP / USD SELL 1.2490 1.2550 CLOSED 1.2440 1.2440 50 2017-02-06 USD / CHF BUY 0.9935 0.9895 CLOSED 0.9965 0.9935 0 2017-02-06 EUR / JPY SELL 120.70 120.90 CLOSED 1.0640 1.0760 10 2017-02-03 EUR / USD SELL 1.0770 1.0840 CLOSED 1.0640 1.0760 10 2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9985 0.9933 20 2017-02-03 XAU / USD SELL 1216 1226 CLOSED 120.8 1215 100 2017-02-02 USD / CHF SELL 0.9920 0.9950 CLOSED 0.9880 0.9910 10	2017-02-08	USD / CHF	BUY	0.9960	0.9900	CLOSED	0.9960	0.9960	0
2017-02-08 XAU / USD BUY 1231 1227 CLOSED 1232 1232 0 2017-02-08 XAU / USD SELL 1232 1237 CLOSED 1227 1237 -500 2017-02-08 XAU / USD BUY 1236 1236 CLOSED 1240 1240 400 2017-02-07 XAU / USD BUY 1231.40 1232.40 CLOSED 1232.40 1232.40 100 2017-02-07 XAU / USD BUY 1230 1218 CLOSED 1241 1230 0 2017-02-07 EUR / USD SELL 1.0705 1.0725 CLOSED 1.0665 1.0685 20 2017-02-07 USD / CHF BUY 0.9960 0.9930 CLOSED 0.9990 0.9970 10 2017-02-06 EUR / JPY SELL 121.35 121.85 CLOSED 12.095 40 2017-02-06 GBP / USD SELL 1.2490 1.2550 CLOSED 1.2440 1.2440 50 2017-02-06 EUR / JPY SELL 120.70 120.90 CLOSED 0.9965 0.9935 0 2017-02-06 EUR / JPY SELL 120.70 120.90 CLOSED 1.0640 1.0760 10 2017-02-03 EUR / USD SELL 1.0770 1.0840 CLOSED 1.0640 1.0760 10 2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9985 0.9933 20 2017-02-03 XAU / USD SELL 1216 1226 CLOSED 1.208 1.215 100 2017-02-02 USD / CHF SELL 0.9920 0.9950 CLOSED 0.9980 0.9910 10	2017-02-08	EUR / JPY	SELL	119.65	119.85	CLOSED	119.25	119.85	-20
2017-02-08 XAU / USD SELL 1232 1237 CLOSED 1227 1237 -500 2017-02-08 XAU / USD BUY 1236 1236 CLOSED 1240 1240 400 2017-02-07 XAU / USD BUY 1231.40 1232.40 CLOSED 1232.40 1232.40 100 2017-02-07 XAU / USD BUY 1230 1218 CLOSED 1241 1230 0 2017-02-07 EUR / USD SELL 1.0705 1.0725 CLOSED 1.0665 1.0685 20 2017-02-07 USD / CHF BUY 0.9960 0.9930 CLOSED 1.0665 1.0685 20 2017-02-06 EUR / JPY SELL 121.35 121.85 CLOSED 120.95 40 2017-02-06 GBP / USD SELL 1.2490 1.2550 CLOSED 1.2440 1.2440 50 2017-02-06 USD / CHF BUY 0.9935 0.9895 CLOSED 0.9935 0	2017-02-08	XAU / USD	BUY	1232	1227	CLOSED	1232	1232	0
2017-02-08 XAU / USD BUY 1236 1236 CLOSED 1240 1240 400 2017-02-07 XAU / USD BUY 1231.40 1232.40 CLOSED 1232.40 1232.40 100 2017-02-07 XAU / USD BUY 1230 1218 CLOSED 1241 1230 0 2017-02-07 EUR / USD SELL 1.0705 1.0725 CLOSED 1.0665 1.0685 20 2017-02-07 USD / CHF BUY 0.9960 0.9930 CLOSED 0.9970 10 2017-02-06 EUR / JPY SELL 121.35 121.85 CLOSED 120.95 120.95 40 2017-02-06 GBP / USD SELL 1.2490 1.2550 CLOSED 1.2440 1.2440 50 2017-02-06 USD / CHF BUY 0.9935 0.9895 CLOSED 0.9965 0.9935 0 2017-02-03 EUR / USD SELL 120.70 1.0840 CLOSED 1.0640 1.0	2017-02-08	XAU / USD	BUY	1231	1227	CLOSED	1232	1232	0
2017-02-07 XAU / USD BUY 1231.40 1232.40 CLOSED 1232.40 1232.40 100 2017-02-07 XAU / USD BUY 1230 1218 CLOSED 1241 1230 0 2017-02-07 EUR / USD SELL 1.0705 1.0725 CLOSED 1.0665 1.0685 20 2017-02-07 USD / CHF BUY 0.9960 0.9930 CLOSED 0.9990 0.9970 10 2017-02-06 EUR / JPY SELL 121.35 121.85 CLOSED 120.95 120.95 40 2017-02-06 GBP / USD SELL 1.2490 1.2550 CLOSED 1.2440 1.2440 50 2017-02-06 USD / CHF BUY 0.9935 0.9895 CLOSED 0.9965 0.9935 0 2017-02-06 EUR / JPY SELL 120.70 120.90 CLOSED 120.20 50 2017-02-03 EUR / USD SELL 1.0770 1.0840 CLOSED 1.0640 1.0760 10 2017-02-03 USD / CHF BUY 0.9913	2017-02-08	XAU / USD	SELL	1232	1237	CLOSED	1227	1237	-500
2017-02-07 XAU / USD BUY 1230 1218 CLOSED 1241 1230 0 2017-02-07 EUR / USD SELL 1.0705 1.0725 CLOSED 1.0665 1.0685 20 2017-02-07 USD / CHF BUY 0.9960 0.9930 CLOSED 0.9990 0.9970 10 2017-02-06 EUR / JPY SELL 121.35 121.85 CLOSED 120.95 120.95 40 2017-02-06 GBP / USD SELL 1.2490 1.2550 CLOSED 1.2440 1.2440 50 2017-02-06 USD / CHF BUY 0.9935 0.9895 CLOSED 0.9965 0.9935 0 2017-02-06 EUR / JPY SELL 120.70 120.90 CLOSED 120.20 50 2017-02-03 EUR / USD SELL 1.0770 1.0840 CLOSED 1.0640 1.0760 10 2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9985 0.9933 20 2017-02-03 XAU / USD SELL 1216 <t< td=""><td>2017-02-08</td><td>XAU / USD</td><td>BUY</td><td>1236</td><td>1236</td><td>CLOSED</td><td>1240</td><td>1240</td><td>400</td></t<>	2017-02-08	XAU / USD	BUY	1236	1236	CLOSED	1240	1240	400
2017-02-07 EUR / USD SELL 1.0705 1.0725 CLOSED 1.0665 1.0685 20 2017-02-07 USD / CHF BUY 0.9960 0.9930 CLOSED 0.9990 0.9970 10 2017-02-06 EUR / JPY SELL 121.35 121.85 CLOSED 120.95 120.95 40 2017-02-06 GBP / USD SELL 1.2490 1.2550 CLOSED 1.2440 1.2440 50 2017-02-06 USD / CHF BUY 0.9935 0.9895 CLOSED 0.9965 0.9935 0 2017-02-06 EUR / JPY SELL 120.70 120.90 CLOSED 120.20 120.20 50 2017-02-03 EUR / USD SELL 1.0770 1.0840 CLOSED 1.0640 1.0760 10 2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9985 0.9933 20 2017-02-03 XAU / USD SELL 1216 1226 CLOSED	2017-02-07	XAU / USD	BUY	1231.40	1232.40	CLOSED	1232.40	1232.40	100
2017-02-07 USD / CHF BUY 0.9960 0.9930 CLOSED 0.9990 0.9970 10 2017-02-06 EUR / JPY SELL 121.35 121.85 CLOSED 120.95 120.95 40 2017-02-06 GBP / USD SELL 1.2490 1.2550 CLOSED 1.2440 1.2440 50 2017-02-06 USD / CHF BUY 0.9935 0.9895 CLOSED 0.9965 0.9935 0 2017-02-06 EUR / JPY SELL 120.70 120.90 CLOSED 120.20 120.20 50 2017-02-03 EUR / USD SELL 1.0770 1.0840 CLOSED 1.0640 1.0760 10 2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9985 0.9933 20 2017-02-03 XAU / USD SELL 1216 1226 CLOSED 1208 1215 100 2017-02-02 USD / CHF SELL 0.9920 0.9950 CLOSED 0.9880 0.9910 10	2017-02-07	XAU / USD	BUY	1230	1218	CLOSED	1241	1230	0
2017-02-06 EUR / JPY SELL 121.35 121.85 CLOSED 120.95 120.95 40 2017-02-06 GBP / USD SELL 1.2490 1.2550 CLOSED 1.2440 1.2440 50 2017-02-06 USD / CHF BUY 0.9935 0.9895 CLOSED 0.9965 0.9935 0 2017-02-06 EUR / JPY SELL 120.70 120.90 CLOSED 120.20 120.20 50 2017-02-03 EUR / USD SELL 1.0770 1.0840 CLOSED 1.0640 1.0760 10 2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9985 0.9933 20 2017-02-03 XAU / USD SELL 1216 1226 CLOSED 1208 1215 100 2017-02-02 USD / CHF SELL 0.9920 0.9950 CLOSED 0.9880 0.9910 10	2017-02-07	EUR / USD	SELL	1.0705	1.0725	CLOSED	1.0665	1.0685	20
2017-02-06 GBP / USD SELL 1.2490 1.2550 CLOSED 1.2440 1.2440 50 2017-02-06 USD / CHF BUY 0.9935 0.9895 CLOSED 0.9965 0.9935 0 2017-02-06 EUR / JPY SELL 120.70 120.90 CLOSED 120.20 120.20 50 2017-02-03 EUR / USD SELL 1.0770 1.0840 CLOSED 1.0640 1.0760 10 2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9985 0.9933 20 2017-02-03 XAU / USD SELL 1216 1226 CLOSED 1208 1215 100 2017-02-02 USD / CHF SELL 0.9920 0.9950 CLOSED 0.9880 0.9910 10	2017-02-07	USD / CHF	BUY	0.9960	0.9930	CLOSED	0.9990	0.9970	10
2017-02-06 USD / CHF BUY 0.9935 0.9895 CLOSED 0.9965 0.9935 0 2017-02-06 EUR / JPY SELL 120.70 120.90 CLOSED 120.20 120.20 50 2017-02-03 EUR / USD SELL 1.0770 1.0840 CLOSED 1.0640 1.0760 10 2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9985 0.9933 20 2017-02-03 XAU / USD SELL 1216 1226 CLOSED 1208 1215 100 2017-02-02 USD / CHF SELL 0.9920 0.9950 CLOSED 0.9880 0.9910 10	2017-02-06	EUR / JPY	SELL	121.35	121.85	CLOSED	120.95	120.95	40
2017-02-06 EUR / JPY SELL 120.70 120.90 CLOSED 120.20 120.20 50 2017-02-03 EUR / USD SELL 1.0770 1.0840 CLOSED 1.0640 1.0760 10 2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9985 0.9933 20 2017-02-03 XAU / USD SELL 1216 1226 CLOSED 1208 1215 100 2017-02-02 USD / CHF SELL 0.9920 0.9950 CLOSED 0.9880 0.9910 10	2017-02-06	GBP / USD	SELL	1.2490	1.2550	CLOSED	1.2440	1.2440	50
2017-02-03 EUR / USD SELL 1.0770 1.0840 CLOSED 1.0640 1.0760 10 2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9985 0.9933 20 2017-02-03 XAU / USD SELL 1216 1226 CLOSED 1208 1215 100 2017-02-02 USD / CHF SELL 0.9920 0.9950 CLOSED 0.9880 0.9910 10	2017-02-06	USD / CHF	BUY	0.9935	0.9895	CLOSED	0.9965	0.9935	0
2017-02-03 USD / CHF BUY 0.9913 0.9865 CLOSED 0.9985 0.9933 20 2017-02-03 XAU / USD SELL 1216 1226 CLOSED 1208 1215 100 2017-02-02 USD / CHF SELL 0.9920 0.9950 CLOSED 0.9880 0.9910 10	2017-02-06	EUR / JPY	SELL	120.70	120.90	CLOSED	120.20	120.20	50
2017-02-03 XAU / USD SELL 1216 1226 CLOSED 1208 1215 100 2017-02-02 USD / CHF SELL 0.9920 0.9950 CLOSED 0.9880 0.9910 10	2017-02-03	EUR / USD	SELL	1.0770	1.0840	CLOSED	1.0640	1.0760	10
2017-02-02 USD / CHF SELL 0.9920 0.9950 CLOSED 0.9880 0.9910 10	2017-02-03	USD / CHF	BUY	0.9913	0.9865	CLOSED	0.9985	0.9933	20
	2017-02-03	XAU / USD	SELL	1216	1226	CLOSED	1208	1215	100
2017-02-02 GBP / USD BUY 1.2625 1.2535 CLOSED 1.2715 1.2575 -50	2017-02-02	USD / CHF	SELL	0.9920	0.9950	CLOSED	0.9880	0.9910	10
	2017-02-02	GBP / USD	BUY	1.2625	1.2535	CLOSED	1.2715	1.2575	-50

2017-02-02	XAU / USD	SELL	1215	1218	CLOSED		1218	-300
2017-02-02	XAU / USD	SELL	1221	1226	CLOSED	1208	1212	900
2017-02-01	EUR / USD	BUY	1.0765	1.0675	CLOSED	1.0865	1.0885	20
2017-02-01	XAU / USD	BUY	1206	1193	CLOSED	1219	1206	0
2017-02-01	USD / CHF	SELL	0.9915	0.9975	CLOSED	0.9815	0.9915	0